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Suppose a donut store has three workers working in limited, often confined kitchen space. To

increase productivity, the store may want to employ more workers.

(A) Soon, the workers will start getting in one another’s Way,NaLd this will result in negative growth
for the store. The workers will have to wait in line to use the machinery, walkway spaces will become
crammed with people and raw materials, and the store WOTJE% turn into one giant mess.

(B) For a period of time, the workers will help productivityYOver time with each new worker added,

production will begin to increase at smaller intervals.

(C) Consequently, the total product of the store will start diminishingN\e marginal progijq: of
additional workers will decline because of the amount of labor relative to machinery. In tlmea if the

store continues to hire more employees, the total product will go to zero due to the lack of store
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/(A)-(C)-(B) @ (B)-(A)-(C) ® (B)-(C)-(A) %C)-(A)-(B) %C)-(B)-(A)
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Suppose a donut store has three workers working in limited, often confined kitchen
SPHEl, F1 Ato| a3l

space. To increase productivity, the store may want to employ more workers. For a
period of time, the workers will help productivity. Over time with each new worker

added, production will begin to increase at smaller intervals. Soon, the workers will
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start getting in one another's way, and this will result in negative growth for the store.
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The workers will have to wait in line to use the machinery, walkway spaces will

==
become crammed with people and raw materials, and the store would turn into one
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giant mess. Consequently, the total product of the store will start diminishing; the
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marginal product of additional workers will decline because of the amount of labor
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relative to machinery. In time, if the store continues to hire more employees, the total
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product will go to zero due to the lack of store space.
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To increase productivity/che store may . want to employ more

workers.

@ (For a period of time) the workers will/help productivity.

@ (Over time//vith each new worker added), production will begin
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to increase(at smaller intervals)
= increasing 2+
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Soon/che workers will start getting in one another’s way,

~2 Yetisict

this will result in negative growth(for the store)
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The workers will have to wait (in linel/to use the machinery,

walkwayyspaces will become crammed (with people and raw
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materials) and the'store would turn(into one giant mesé

Consequently,/the total yproduct (of the store) will' /start

diminishing; the marginal product(of additional workers)will
F
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decline(because of the amount of Iabo%elative to machinery.)
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IP time@theStore contVues to hire more employees,|the total
2= = hiring
product will go to zero(due to the lack of store spac%.
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Suppose a donut store has three workers working in limited, often confined kitchen space.
To increase productivity, the store may want to employ more workers.

For a period of time, the workers will help productivity.

Over time with each new worker added, production will begin to increase at smaller
intervals.

Soon, the workers will start getting in one another’s way, and this will result in negative
growth for the store.

The workers will have to wait in line to use the machinery, walkway spaces will become
crammed with people and raw materials, and the store would turn into one giant mess.
Consequently, the total product of the store will start diminishing; the marginal product of
additional waorkers will decline because of the amount of labor relative to machinery.

In time, if the store continues to hire more employees, the total product will go to zero due

to the lack of store space.
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One impact of the growth of the older population is the increased (A) [vi@ty / invisibility ] of
- ~F

-

aging, which results in more awareness among the general population about older people,

and about the diversity and uniqueness among older individuals. As older people become

more numerous and Vvisible, stereotypical attitudes and discriminatory practices that

Ndisadvantage older people are more likely to be (B) [ established / cha@ed ]. For example, in
comparing magazine advertisements in the year 2014 to those from 1980, we see a marked
increase in both the number of ads that feature older people and in the average age of many

models. While most people in ads are still young, our images of aging are changing along with

(C) [ diminished / hemned ] awareness of the aging of society. There may be no better
N
example of this trend than the skyrocketing popularity of TV personality Betty White, age 92 at

the time of this writing.
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One impact of the growth of the older population is the increased visibility of aging,
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which results in more awareness among the general population about older people,
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and about the diversity and uniqueness among older individuals. As older people
Crefd 174
become more numerous and visible, stereotypical attitudes and discriminatory
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practices that disadvantage older people are more likely to bechallenged. For
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example, in comparing magazine advertisements in the year 2014 to those from 1980,

we see a marked increase in both the number of ads that feature older people and in
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the average age of many models. While most people in ads are still young, our images

of aging are changing along with heightened awareness of the aging of society. There
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may be no better example of this trend than the skyrocketing popularity of TV
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personality Betty White, age 92 at the time of this writing.
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One impact of the growth of the older population is the increased visibility of aging,
which results in more awareness among the general population about older people, and
about the diversity and unigueness among older individuals.

As older people become more numerous and visible, stereotypical attitudes and
discriminatory practices that disadvantage older people are more likely to bechallenged.

For example, in comparing magazine advertisements in the year 2014 to those from 1980,
we see a marked increase in both the number of ads that feature older people and in the

average age of many models.

While most people in ads are still young, I
]

There may be no better example of this trend than the skyrocketing popularity of TV

personality Betty White, age 92 at the time of this writing.
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